Synthesis Challenge # 68

AG Wegner
, 02.11.2017
X s ; | .
HO,C : 1) (COClI),, DMF, CH,Cl, Please provide a synthesis for A.
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: 6) MCPBA, CH,Cl i MeO MgBr
7) HslOg, Et,0
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: 9) Swern oxidation I




| 10-15 10) HCOH, EtaN, (S5)-Ru(l) cat
: 11) NaH, Mel
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12) Og, pyr|d|ne MeOH, then PhsP :

)III BF3;*OEt,, THF, then H,O,, A/\B(Ipc)
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) TESOTf 2,6-lutidine n

15) Og, yrldlne MeOH, then PhsP :

l16-19  16) B, n-BULi/THF, then E
:17) DMP, CH2CI2

v 118) Amberlyst-15, CH,Cl,
:19) CDI, MeCN, :
§then CHZ(COZMG)COZK MgC|2, Et3N

: 20
P 21
Y.
P23

TIPSCI, DBU, CH,Cl, :
LiBHy4, Et,0 : HO
BF3*OEt,, CHyCly, -78°C,MS 4A -

IV, DMAP, toluene, reflux &

N N e e’




